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III Semester B.com./B.B.M./B.C.S./B.C.A./B.T.H.
Examination, Oct./Nov. - 2018
(Semester Scheme) (2016 onwards)

ENGLISH LANGUAGE - 1II
The Alchemist and Language Component

Time : 3 Hours Max. Marks : 80
1. Answer two of the following : [2%x10=20]
a) Describe the early life of Santiago as a shepherd and what had he learnt

at shepherding?

b) Give an account of Santiago's meeting with the Englishman.

¢) How does Santiago help the crystal Merchant improve his business?

2. Answer two of the fo}lowing : [2%x10=20]
a) How does Melchizedek help Santiago realisc his dream?
b) What is the role of Fatima in Santiago's life?

¢) "The alchemist is the guiding spirit in Santiago's decisions". Comment.

3. Werite short notes on four of the following : [4%5=20]
a) The Prologue
b) The Gypsy woman
c) The Arab boy at Tangier
d) The significance of the Omens
¢) Theleader of the caravén

f) Al-Fayoum Oasis

P10,
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4. a)

b)

d)

M-491

Language Component

Fill in the blanks with appropriate tense forms : [5x1=5]
i) My friend his bus pass. (to lose)

i) They on a pilgrimage last year. (to go)

) I from the North - East of India. (to be)

iv) Iam - for the Principal to arrive. (to wait)

v)  Chethan is going to for his interview. (to prepare)
Choose the correct verb which agrees with the subject : [5x1=5]
1))  The dresses inthat store  expensive. (is / are)

i) One of my teachers become the Registrar. (has / have)
i) I in the hostel. (stays / stay) '

iv) He know to play a musical instrument. (doesn't / don't)
v) She  carefully. (drive / drives)

Correct the following sentences : [5%1=5]
i)  Mumbeai is a biggest city in Maharashtra.

i) Santiago had a few shcéps.

i) I prefer Dosai than Chapathi.

iv)  She ran very fastly.

v) I'wantto learn the English.

Change the Voice of the following sentences : [Sx1=5]
)  His life was saved by the guard.

i)  Open the parcel.

i) Who did this?

iv) The painter is painting the gate.

v) The gymnast was helped by the coach.
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IIT Semester B.Com/B.B.M./B.C.A/B.B.A. Examination, Oct./Nov.-2018
(Semester : Scheme) (Freshers & Repeaters)
HINDI (Language) (Paper - III)

R e aiv g Ud S

Time : 3 Hours Max. Marks : 80
Instruction: Part - A ;&7 7, s a1, waes et ues Huer w@ 3gae (For B.B.M/B.C.A)
Part - B :afures faier v -sagn won s i (For B.B.M/B.C.A/B.B.A)
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(srea 7m)
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free T gfénns wiemweht ==
s westatwana
a6 wvg-wus W W Em Rl
PT.0.
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[3 x5=15]
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(3®)

IV e foRdt whed §7 sigam et @ s fomm - frg i) [10]

VI

T
VIEEHETE § WIAHaTE 38 & ane i)

Fifurea HgarE W fa=m i) [10]
Rt

et & argame Hif

As the national income of the country increases, so the demand for
consumption goods will increase. The very objective of planning is to rise the
income of the country.And the natural out come of this increase will be the
increase in demand for consumption goods. The living standard of people
will rise only when consumption goods will be available in plenty of them. I
will never be possible to meet the increasing demand with the help of cottage
industries. so in future we shall have to adopt new scientific means.
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ATA c&raeasﬁrie; Sy eas Slapiesvo g @odsacﬁe.‘) AL asﬁon'fé’ BeRd émmézﬁ o35oeen
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9)  SHFATE WIHTE JavT shi Uisha 21 (& a1 TTew)
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11) Advertisement
12) Confidential
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14) Interview
15) Nomination
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Part-B :
(enforear Fraer, o= SHeER G AT f2el)
(For B.B.A/B.C.A)
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12)
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14)
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Certificate
Income Tax
Nationalization
Savings Account

Onemployment
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[15 x 1 = 15]
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IIT Semester B.Com. Examination, October/November 2018
(Scheme : RS 16-17) (Freshers of Nov./Dec. 2017 and Onwards)
BUSINESS DECISIONS

Time : 3 Hours Max. Marks : 80
Instruction:  Answer all the parts.

DR GRNNYR V302

PART - A

&N - 2
Answer any two questions. Each question carries 20 marks.
CIRYTITTR DT TJNOR G0ZOR. TS TJR 20 ©OINW.

Q1) Define Business decision. Explain the basic concepts of business decision.

BWHIT VEDFODWI), YATHAR. TBITOT EIFODT TURVLRT TOLRTINTI,
RWOA.

02) What is time value of money? Explain the reasons for time preference of
money.

Ravi borrowed a 12 year loan of ¥15,00,000 at 8% from Bank to construct a
house. He has to make repayment at the end of each year. Calculate the annual
installment and prepare loan Amortization table.

BT AROD BPOII? TEOTW AORT STI0D PTLNTI), DF/OR.
B QOB 12 BRFT WBPR Be. 8 B0 &R Tw. 15,00,000 AOOTII,
LROINOT I TLRLD TWOTTVS. RO TS JRFT ©WOFTY W
TR VPBLETINOIW. o3 BOBINY, TOWIERBOWD D, To© [T
TEORT, OO

PTO
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03) Whatis linear programming? Mention the applications of linear programming.
A manufacturer produces two types of product A and product B. Raw materials
R, and R are required for production. Each unit of product A requires 5 kgs
of R, and 7 kgs for R,. Each unit of product B requires 3 kgs of R, and 11
kgs of R,. 1500 kgs of Raw material R, and 3850 kgs of Raw material R, are
available in a week. Profit per unit of A and B are Rs.10 and Rs.12 per unit
respectively. How many units of product A and product B are to be produced
in order to maximise the profit? Solve by graphical method and verify the
answer.

OeAONT FONFBR DOTTeR? DEACHT” FIOPF BT WIENTZ) QA7
20T m@aaddédraa%do D DB W 20w [RNTI, BQAWID. R, 2B
R, 202 0 0e80d 32@5@71%001 eVBe3ReNRTT. ‘@’ AT 5 B3O,
R, &3 7 3n8owx) R, Bezordd. W’ R3R 3 Fendawd R, =3 1l
FeRNTYTY, R, 23e5ordEas. 1500 Feadnya, R, %zs?ddm_g a’na_)o 3850 dene, R,
BUPTRY 20T md% BRTNIT. ‘@’ ATFS 2,000 TOBPED, Twe. 10 I, W’
XTSI 2.,00H F|OTPERY, Tw. 12 OPNT. NOF T WDWOB » B D
ROBRIRY, Y, TRPPTY YVTIORWTOT? Jg TP SoDY NAAD. SVBTIR,
WO,

04) What is calculus? Explain briefly the types of calculus.
The total cost and total revenue functions for a product is
T, = 72,500+15x+0.0015x*
T, = 90x — 0.006x*

Find :

a) Marginal cost function

b) Marginal Revenue function

¢) The level of output which yields maximum profit.
d) Maximum profit at that level

e) Average cost function
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ﬁ@d%r\a QNOTTETY? RO TRITY ORI TFOTRTR), DTOA. 20T
SHOT 2 Sy DR am STRODTY LN,

T. = 72,500+15x+0.0015x 33

T, = 90x — 0.006x2

FOTY &HROWD.

)
Q)
A)
&)

2)

ACTIDOBT dagcs FOORE
ACDIOBT BSTOONT FOONE
ri@a"% COPNP AL TV NICDIaRRWI)
& YIVTT DWEOI nosy ©opd VR
RO BT ToOPE

PART-B

AR )

Answer any two questions. Each question carries 10 marks.

CIPFTTTL STB TFNYR W00k, BS BT 10 08D,

035) The following information is furnished by a company Itd.

Direct Materials 9,50,000

Direct Labour 6,15,000
Manufacturing expenses 7,50,000 (60%variable)
Administration expenses 3,00,000 (80%Fixed)
Sales expenses 1,75,000 (100%variable)

If the firm manufactures 25,000 units. Find the selling price under mark up
pricing method if profit is

a) 25% on selling price
b) 20% on cost
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33 BENT FRLIOHIY, 2O 0T OMHBF LBNAT,

363 SR 950,000
363 Fe3 6.15,000

 wozmEe Sy 7,50,000 (60% 2B H2g)
$EITIF BB 3,00,000 (80% ARBS)
SRoL B - 1,75.000 (100% 253e0rdss 5523)

30T 25,000 FFe3BrTaD, IAPOATS. BRFF T BS APET VBODY
FROOHT B3S0HR, FOBLBOND. BB

D) Be. 25% RoTRE BS0H Boees
R) 3e. 20 BPD e,

Q6) The Marginal cost function of a product is given by MC=500-0.1x. The average
cost is ¥ 495/-, when the output level is 500 units. Find the total cost and
average cost function.

2,000 VRIT AeBPOBT HPH Foodrsy MC=500-0.1x QT3. RTIRO ézg
Se. 495 SNTY, 500 CRRIET LLTITIONT), VRWET, i) N NN
pslopFte) dag’p ROWOT FOTWLRBOWD.

=L

Q7) The Cash flow of two alternatives are as follows.

Year Project A Project B
e 30,000 50,000
2 50,000 60,000
3 60,000 70,000
4 90,000 75,000
5 95,000 90,000

Initial investment is Rs.4,00,000, if the discounting rate is 12% . Evaluate the
projects using the net present value.
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07) HTE TOIEODNE IND BOFY) &eNas.

RRE odnrexd @ odpexs 0
1 30,000 50,000
% 50,000 60,000
3 60,000 70,000
4 90,000 75,000
5 95,000 90,000

$30RT BRAS 4,00,000 SNTH, DoIRENE TIY Be. 12 SNGB. A BRI
aﬁaoéwmd 2SABROTD o&:ac'a:,ﬁrivém‘=l 53‘905533555 [N,

08) Briefly explain the decision making process.

3emPER BRES TFOIODRY, HOFTTON DFOR.

Answer any four questions. Each question carries 5 marks.

OSRIYTTTR To), JINOR LVIOA. T TJR 5 WOINLD.

09) Vinod deposits Rs.20,000 at the end of each year for 5 years and the deposit
earns a compound interest at 8% p.a. Determine how much money he will

have at the end of 5 years.

NI BB [REP 5 VRFNSRTA Be. 20,000 Beesed abazzaagd. a:bé_ap
Bewsed T wa'is'i; Je. 8 d'@ :jooh)g wﬁgoduaba ﬁom@#o:icﬁ. 5 IJNY
BRVODY ©TH @aod asaam& dfoo@doegd RO FORHROWD.
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Q10)The following is the cost structure of a manufacturing company for 20,000
units of production.

Fixed over heads 1,20,000
Variable over heads 2,00,000
Direct wages 1,50,000

Direct Materials 4,10,000

If the firm wishes to earn a profit at 30% on selling price. Find out the selling
price under marginal cost pricing method.

39NTY 20,000 e0IVTT0 FLIBRIR LOTITBIV FOTROD NP TBOITPNT.

AND3 ﬁz;a;ﬁ%fo 1,20,000
WBTTDR SR 2,00.000
30 Be33 1,50,000
3¢3 SRR 4,10,000

Boooees BSK Be. 30% COPBI), NPALD ROFOID WONRETT. ¥ dag‘d

@ - Q

23S DFOIT WRONY #[pTewT BSONT), TOWERRWD.

2

d'y
dx,Z

011)If y=10x*+5x*-8x?+15x+500 Find

d2
y=10x+5-8x2+15x+500 T3S dxf OTEROND.

-
‘S
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Q12)A firm manufactures 50,000 units of a product per month. Its cost function is
given by C(x)=20x+80,000. What is the price to be charged to earn a profit of
< 20,0002

2,080 JoR oda:» 3ori%iraocjé 50,000 wmm;m m@@mécﬁ 5»3@3 das
ROWOLR) C(x)—20x+80 000 emcﬁoa:ﬁ 20, 000 d:a croz;ri@:daﬁeaacﬂd ﬁ:‘i
amow:o 030x= 3SR =TI mdzﬁeﬁo

Q13)Write a note on competitive Bidding price method.

ATOFTT VRO BS QHORT AlyRENelav e33e8 0 BOWD.

Q14)Mention the different types of functions.

RNG D8O ROWOTNFTY, SPA.
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I1I Semester B.Com. Examination, October/November 2018
(Scheme : RS 16-17) (Freshers of Nov./Dec. 2017 and onwards)

COMMERCE
BUSINESS TAXATION -1

Time : 3 Hours : Max. Marks : 80
Instruction:  Answer all the parts.
AR NN LVZ0X.

PART - A
SR —

Answer any 2 questions. Each question carries 20 marks. [2%20=40]
C3PPTTTR 2 JJNen wwEdA. TS 3371 20 &OBNV.

Q1) Mr. Harish is an employee in a company in Banglore. He gives the following
information of his salary for the P.Y. 2017-18.

a) Basic salary at ¥40,000 P.M.

b) DA %10,000 P.M. (50% P.M. is given under the terms of employment)
¢) Bonus 2 months Basic salary.

d) City compensatory allowance < 500 P.M.

e) Education Allowance for 2 children at ¥ 400 P.M. per child.

f) House Rent Allowance 8,000 P.M. (Rent paid ¥ 10,000 P.M.)

g) Company has provided a new telephone at his residence and paid
telephone bill of T 5,000 during the year.

h) He isallowed to use one large car for both, official and personal purpose
and expenses borne by the company.

i) Reimbursement of medical expenses of T 25,000. Treatment was taken
in private nursing home.

j)  His income tax paid by the Co. X 12,000.
k) Annual travelling Allowances paid X 8,000 (% 4,000 spent for office purpose)

) Company has given sweeper and waterman, their salary X 1,000 and
T 3,000 respectively.

m) Entertainment allowance I 1,000 P.M.

PO,
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n)

0)
p)

Company has contributed 15% of saIary to his R.P.F. (employee
contributed the same)

Interest credited to RPF X 15,000 it represent 15% interest.
Professional tax paid by Harish ¥ 200 P.M.

Compute income from salary for the AY 2018-19.
3¢ TOeBTHT oNTRdT 8om TOTAOPY FPFTTNTY ©HT 2017-183
HONR JRFT BOWST B 33 IPNT08T:

)
)

R)
@)
Q)
DF")

%)
)

®)

%)
%)

RO7)

)
QD7)

&)

@)

BRoRes donen T 40,000

28 3 sonert I 10,000 (3e. 50% sonen ©=d TS Pogd
aa”.faer'be’d)

BReIT 2 30N ROTeIT

SN Tomes 3, gonert T 500 .

ALpEADES a;éé YD WFIR 20T AR gonert Twe. 400 ToS.

Rdedn 33, gonent X 8,000 (&R dewthmm donter T10,000)
FOWAON @RV IR BRI THToed LBNATR), BT DY
DR, % 5,000 BRI,

FOFACINV Fe3ed mc@aeséﬁ & FODTFON IR BRT, TITR, WIR
©9RTOT ACRT. SDBVE DY, FOTAOIN ORI,

QWT  FTHeoD dza‘ < 25,000 DI, FOBJAAN &OETHNRT. VRT
dd%eoﬁo emwasad ém,m IEOTT ﬁmoﬁ@ IBOT.

sOwEDodbo 930 Swmod 301 B T 12,000 DI, TR,

Bodmee Y, warE 8,000 Tn. BRI (soasar IRRF T 4,000
FE3eD0D emdeejﬁﬁ)

FOTAO3N fawaﬁ 22 BAMRRAE B 2:2), TOWLOMPTTR, éfawcia
QAWRT WPAT FOWS f 1,000 == 3000 waﬁo BTN &raé;%da:a’d
oITowDe 83, donwnt X 1,000.

FOTAOIN e:vdai ROWET- 3e. 15 O, BT°.0.OFR F08R QeI
(SPFTD B TRweeny [osn QeBTHZTI)

ABOH Fveed dw. 15,000 &)@ 00T [ Wodrs 3e. 15 oD, T
TR SRE gonwrt T 200 53 B8 é@ﬁcﬁmﬁ BOCTTITD ae@daa'ad

2018-1953¢ 3oR aws*% 2B mrao@od WO eﬁmcdmab %océaao@oaob

02) Mr.Nair is the owner of four House properties. The following information
given for the year ending 31.3.2018 in respect of the properties.

A)

First house the municipal value is ¥1,00,000. He has used this house for
his own residence. He has paid 5,000 for municipal tax and I 20,000
interest on loan for the repairs of the house.

D=
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B)

C)

D)

The second house of the municipal value of X1,20,000 (and whose fair
rent was ¥ 1,50,000) was let out at a rent of X12,000 per month. He paid
municipal taxes of ¥10,000 and interest payable on loan taken for
rennovating the house amounted to 20,000 for the previous year.

The third house of the Fair rental value of ¥2,00,000 (and whose municipal
value was ¥1,80,000) and let out at a monthly rent of 14,000.

The following expenses are claimed by Mr.Nayar in respect of this house:
a) Fire insurance premium 32,000 ‘

b) Ground rent ¥1,000

¢) Municipal tax paid by the tenant I18,000.

The Fourth house of the municipal value of X2,00,000 was let out on a
rent of £20,000 P.M. and he paid municipal taxes of X20,000. The house
remained vacant for 3 months and unrealised rent of 20,000 in the
previous year in respect of this house which satisfies the conditions.

Complete his income from house property for the AY 2018-19.

8¢ FIONT'TTT T, DINY TPOe3R, 31/3/2018T oD ESEJ&F'U:% T0W0T
mo:-s SO B3 FYTOT [I0&S0DI), BRBOINT.

®)

Q)

DAY IO TTRLD a’ﬁ@@ X 1,00,000 &3, ©TI, Siie) 3&3
Noa’mﬁ% adcécﬂaé\fao@tb@d fadé Noaoocswwoé’ wad,qm 3®ﬁ
% 5,000 aLé_ao TR BET mod a%:ee.‘)?) AL < 20, 000 B, &raéﬁdasad

QOB DI BTG IR, X 1,20,000 (2TT F9,0H030E RN
% 1,50,000) “&65001 gonen dw. 12,000 Tod &R %Jaééd. QR
T00Ree 301 10,000 &, 80830083, =OIOD Z3eE8RF €008, TAT
on 008 wg 20,000 =3, ToWSRLICTNT.

SR3IF IIoP FEPo3NE el X 2,00,000 (£TT ST
d:?a@é % 1,80,000) ‘adcﬁbd gonent wolnt I 14’000_'55 6@&5&

5¢ TOODTTHD 83 WV FOWOTTIOF B 3BOR DUDFNTR, FeyThHTB.
D) ©N, TP FOBD < 2,000

2) 3o wean < 1,000

) RRRTTH Feeod 3ot X 18,000 =TS

3
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2) Toyse DFcH DO B, T 2.00,000 SAT, BB, Forer de.

20,000%15 ARIZTaTA &raagcﬁ. 2oz 3on T 20,000 &@ééd 3 TICW 3
3O IONT B TR 23RN < 20,000 SN, TORRITOS
AOFE TOBNW 3 LITTONS.

IONOT W cjmocbaﬁaﬁ)cl 391 I=E 2018--19% QBﬁ&asad SBO.

03) From the following receipts and payment statement for the year ended

31.3.2018 of a medical practitioner and the further information given. Compute
. his professional income.
RECEIPTS 4 PAYMENTS X
To Opening Balance 30,000 | By Salary of staff 35,000
” Consultation fees | 1,50,000 | ” Rent of shop 50,000
” Visiting fees 25,000 | ” Cost of medicines 50,000
” Sale of medicines | 1,00,000 | ” Membership fees 1,000
? Gift from patients 30,000 | ” Purchase of car 80,000
” Rent from H.P. 60,000 |  Surgical equipments| 15,000
” Dividend received 10,000 | ” Car expenses 8,000
” Municipal taxes 1,200
” Stationery 4,000
”  Drawings 10,000
” Income tax 18,000
”  Sundry expenses 500
” Donations 5,000
” LIC premium 6,000
” Closing balance 1,21,300
4,05,000 4,05,000
Other information:
1) Rent of shop includes T 10,000 paid to his residential house.
2) Membership fees paid to Medical Association.
3)  1/3 of car expenses are related to his personal use.
4) Municipal taxes are paid in respect of house property let out.
5) Donations are paid to the CM flood relief fund.
6) Depreciation on car amounts to X 6,000 and all other block of assets T 7,000.

-



31.3.2018 Jom® &msm%%%w mrg 22, aﬂddé de}godmda 8 FSBOTB E:BOd)oT%OCb
TI0D, BRLITHTHS I BIT TLSODT, WBNAHT]T. VT[T 70T

@m@dz&% FOTLRBOWD.

303 4 =D %

e SooRs S0 30,000 | @ow mgjo@ofo p3lot AL 35,000

i ?:i@@ebt% 1,50,000 7 233Z000D RN 50,000

” ROTBFS Y, 25,000 ® BIROoD aﬁag 50,000

? BRO B[00k 1,00,000 | 7 3TRI DY, 1,000

?  BeeNnvon IBT ” B0 DOCOAT 80,000

BREN 30,000 | 7 523)&3-3% VDTN 15,000

? DI RN 60,000 ? 5003 DWF 8,000

” @903 IWOWY | 10,000 ®  ZooRLe30R 1,200

? . BeDToR[OTIVN, 4,000

= ﬁdoéﬁﬁ 3RO 10,000

?  &m00d 3R 18,000

» 980 RPN 500

?  Zdeedn 5,000

?  Z2eTONWID FOV 6,000

? 08T é@% 1,21,300

4,05,000 4,05,000

233_Bmbdned: '
) o PR IIcD @A dw. 10,000 B0e3THPYTD WorEo. 2RRNODY
[e0BROBT.

2) RBEZ DO 33,5003 VOTBET BN,

3) %03 DwFIQ 13 k) Z03 wwBdcdeeny FeOHIT.

4) TORLo 300 AR ety WV FeTTT.

5)  Tecdnt 3T RNDT0S0HTT IT FOHBT PR Bed3.
6) %0 FedT FHWBY < 6,000 QBT BANY vee3 T 7,000.

04) Explain different kinds of provident funds with relevant provisions of L.T. Act
19617

=00d 301 T 19618 BF0 DN BFOOT PAF, AQNY DODTRBENTT,
DWORD.

-5-
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PART - B
R — 0

Answer any two questions. Each question carries 10 marks. [2x10=20]
C30R)TOWTR 2 gédﬂ@ﬁ YVBOA0. T3 @%ﬁ 10 ©o3NnW.

05) Explain the residential status of an individual as per IT Act 1961.
©TR0dH 01 Fo0T) 19610 BFoT BIOD TV IXI, et AFFORO SR

06) Write a note on sec. 80C.
R8> 80C 21} 33388 2080200,

Q7) Mr. Chanden furnished the following incomes earned during the PY 2017-18.

a) Income from Agriculture in Sri Lanka 325,000.

b) Income from Business in Japan ¥40,000, received there but that business
controlled from India.

c) Interest on UK development bonds 10,000 (% received in India)

d) Dividend from domestic company %6,500.

e) Income from house property in USA 30,000 of which 50% received in
Bangalore.

f)  Salary received in India for the services rendered in Switzerland ¥60,000.

g) Profit from Business in Mysore X80,000 and that business is controlled
from China. ,

Compute his total income for the AY 2018-19 if he is

a) Resident

b) Not ordinarily resident

c) Non-resident.

&t BT TRDH &OOI B[BRE 2017-18 TY NPAT Swood 8 F$NT03

QeRTT.

R) SLO0TROT FA STIOH WORTHW. I 25,000

D) BIRIVYS H[JTOOOT 20T swod 40,000 BEHTITH/I),
2oT3R0T AONOZRTRMOIT.

) .3, eRR, woE R e g 10,000 (V2 :»TITY SdedenNs)

R) Tede IoTINOT worm ewewod T 6,500

Q) OIV.0F .0 0RYTT T BRWOT 20T Sweed T 30,000 ©TIY Be.

- 50 TR, 3onHedRY IROT.
DF) ARTYEOFIQ e FQAT TN HTsTY IIT Zows T 60,000

£6-
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2) WP mémdaod 2003 oz T 80,000 =3 mémd@ z%dm

33000 AONOEROTBE.
2018-195 3CRGRFT [HFE, 2,43 STRODTI), S5RRT IWRO.

LT

Q) FOTRD, AR O3PNTT.

2) mmaﬁ QeACIPNYOTT.

) ©RFACIPNTT.

08) Sri Ganesh has prepared the following P/L A/c for the year ended 31.03.2018.
You are required to compute his income from business for the A.Y. 2018-19.

P/L Alc

To Salaries 11,000 By G/P 1,80,000
24 Rent 7,400 ” Rent from H.P. 6,000
” Loss by theft 2,000 ” Dividend 1,200
” Discount 6,000 » Interest on FD 800
” Donation 500
” Income tax 3,000
? QGifts 500
? LIC premium 1,000
” Interest on loan 2,000
” Interest on capital 3,000
” Repairs (HP) 5,500
2 N/Pcid 1,46,100

1,88,000 1,88,000

Additional Information:

a)  Actual bad debts during the year X 500

b) Depreciation allowable as per IT rules 2,000.

c) Donation is made to NDF.

8¢ n=e38W  31/3/2018T ©wOoZE P ST S09ZONT 3035002302 0.

2018195 301t TTFY, FHTVEOS 0T STRODT, FOTEAWD.
RB-T_ 03

A Rows 11,000 803 Zpe @og3 1,80,000
” 303N 7,400 ? DI R 6,000
2 6%3555 5% 2,000 ” 03 1,200
? BReB 6,000 2% %&)d BeedoD
” Z3eedn 500 woeds WG 800
”? 3730030 30n 3,000
” 3TN 500
”? 22e@RTR FTOID 1,000
? o RNeOT W 2,000
”? 2)OBRWOST 30T 28 3,000
? I0H 0T/ed 5,500
2 ?Dﬁc;;‘ (ORYA 1,46,100

1,888,000 1,88,000
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B3 Bobd .
D) BRI IVFB 3B O T 500 £
D) STO0D TONT Jved I@eP < 2,000
%) NDFR d@ednn Qerennd.

PART - C

N - 2
Answer any four questions. Each question carries 5 marks. [4x5=20]
OSRRYTOTTR JoLY, JINYR 0ZORD. TS TJR 5 WOTNY.

Q9) Write a note on previous year and assessment year.
HODT BRE BB B0 JIRFT Wif 3T WTOWO.

Q10)Mention any ten exempted incomes u/s 10.
CIDPYTRTTRL 10 S0r0N0T DTN T SrodnYD, B0, A3 108 F5oT.

Q11)Mention any 5 powers of Assessing officer.
30N APFORT PRTHOOD 03F)TH3R S ©RTONTI), LTOWD.

012)What are the exempted incomes from House Property?
30N QTRONENR WITVET DI BTOINTIT)H)?

Q13)Mr.Rakesh is getting a pension of X 10,000 PM. from a company. During the
PY. he got his 2/37 pension commuted and received I 6,00,000. Compute the
exempted amount of pension if
a) Healsoreceives gratuity
b) Hedidnotreceive gratuity
8¢ Do3er'TRB® donert 10,000 D[ EHe3T TBOINEWT. HOOT SHE
2/3 R AN BReIIB[R, TOBEFA TR o < 6,00,000 DF0NS TWIT
WOREFAT ARG BB, TOWLROWD. B/

D) QT RI,0WLON), BJAEwN
D) QR M0N0, JEOLOWIN

Q14)Write a note on section 80 D under IT Act.
BHo0D 307 FSRISY T ZZF 80 D 21} €338 Bcwd.

v e

-8-
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SINo.11058 Total No. of Pages : 11

IIT Semester B.Com. Examination, October/November 2018
(Scheme : Revised Syllabus 16-17)

(Freshers of Nov./Dec. 2017 and onwards)
CORPORATE ACCOUNTING-1

Time : 3 Hours Max. Marks : 80
Instruction:  Answer all the parts.

DR GRNNONS wg’a:;.

PART-A

RR—D
Answer any two questions. Each question carries 20 marks. [2%20=40]
C350)TOWTR  DTED @%ﬁ@ﬁ QZOR. TS "w_jé’olﬁ 20 ©0o3ND.

Q1) Moni Co.Ltd. invited applications for 60,000 shares of 10 each at a premium
of 2.50 per share payable as follows:
On application X3.00
On allotment I4.50 (including premium)
On first call 2.00
On second and final call X3.00
Applications were received for 85,000 shares, out of which applications for
5,000 shares were rejected and money refunded to them. The allotment was
made prorata to the remaining applicants. Excess application money was used
against allotment money due.
Mr. Varun to whom 1,000 shares were alloted failed to pay the first call, his
shares were forfeited.
Mr. Sharan the holder of 600 shares failed to pay the 2 calls and his shares
were forfeited. All the forfeited shares were reissued to Mr. Arun at I8 per
share credited as fully paid.
Pass necessary journal entries and also prepare the Balance Sheet.
RReD DOPNT BOTAOIN 60,000 HeAPR VVFNRTR, STRAANZT. T
3e0s R0DES dr. 10 SNT Twe. 2.508 Ledodon 2303 éemﬁbmd&e’cﬁ
Te 3eOST TEo OISO = ﬁ%ﬁﬁdoécbéd
6:92:3&-‘ ®e2 Tw. 3.00
BOWE BEd BWe. 4.50 (N0 Xed)
TFS 33 B, 2.00
B8ecd @B w08 T Tw. 3.00

PT.O.
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85,000 SedROR LVFNTT, %eﬁmcia 5,000 3etony @BFRIR, éd
RGO BT, &oo@doﬁ,o@aﬁd NPT 9BFTOTON zsaaﬁw:s 50236
SOBFERNTR ézé%asa IR BEOTIY, TOWE Beod BHOTIET BRRBEFTONT.
e 0) DOLDRZOR 1,000 5@637%@&0& aa’ozﬁeroﬁg) OR3 VAT IV gsaa’m
TORSRD é)wt)md@ocd 20 BeTINTI, mwﬁmm m%&raeé@aoaa&
30T Q02D 600 BeTONII, &ao@zﬁa @dtso BORYIY, "'adé,om
é)w@oad@od Epnie] éemm@ mwﬁm@o m&&a@mo&v&
mmamae@o TOBBROB TP aedm%fsa Clevtod SonnROR  Beser
wﬁéoﬁmdoé 3D TR. 8% T 50336 FPBSOOND). TP DS
BB B BRH DEODI, 3odro®~

02) Bhavya Company Ltd. Nanjanagudu has an authorised capital of 320,000
shares of 100 each. From the following Trial Balance prepare final accounts

as per Companies Act,2013.
Trial Balance as on 31-3-2017
Dr. Balances % Cr. Balances X

Calls in Arrears 40,000 Share capital 12,00,000
Furniture 35,000 Reserve Fund 1,50,000
9% Govt. securities 22,000 10% Debentures 2,00,000
Advance to staff 10,000 Secured loans 1,00,000
Opening stock 3,00,000 Provision for tax 1,00,000
Sundry Expenses 64,000 Int. on Govt. securities 1,980
Debenture Int.paid 12,000 Rent received 11,020
Motor car 2,30,000 Transfer fees 2,000
Sundry Debtors 4,00,000 Sundry creditors 2,50,000
Interim Dividend 29,000 Bills payable - 17,000
Preliminary Exp. 15,000 P/L A/c (1-4-16) 17,000
Cash in Hand 1,26,000 R.D.D. 12,000
Cash at Bank 1,16,000 Sales 35,00,000
Income tax paid 95,000
Machinery 4,15,000
Carriage Inwards 10,000
Wages 30,000
Carriage outwards 25,000
Salaries 59,000
Purchases 30,00,000
B/R 1,20,000
Bad debts 8,000
Buildings 4,00,000

55,61,000 55,61,000

290
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Adjustments:
1) Closing stock valued at ¥6,00,000.
2) Transfer to Reserve Fund %60,000.
3) Depreciation to be charged on Machinery at 15%, Motor car at 15% and
Furniture at 10% p.a.
4) Create RDD @ 10% on Debtors.
5) Provide for debenture interest.
6) Write off preliminary expenses completely.
2333, QODNT BOTR, JoRINATW BB 20,000 Jehnso T 3ednt Sw. 100
doé RREOTIVOWNE  WOBTIYRY, TROOTOTT. &3 $9%00 =9 FeIoWOT
BOT/AOH O8I TBNYI, 2013 30T 50T B0,
o9 wéﬁ} 31-3- ?0175 ‘ad 03

938 SO cira. 3 ée%ﬁe:o 3R.
L0BV0T IO 40,000 3eD WORTOY 12,00,000
QCBRCETTTED 35,000 CDIOVSLARRNA) 1,50,000
9% RFOFD TSN 22,000 | 10% mo® TN 2,00,000
2O WONE 10,000 | PTTo FOOND 1,00,000
SO0 XTB mR|  3,00,000 | SR oeRED 1,00,000
}BT DRFNRW 64,000 | AFO TJgne DedT 0@ 1,980
O TIB e B RN LOTIT) 11,020
TOBSAT) 12,000 | [reFRm Y, 2,000
WOCERNTD WO 2,30,000 PIND 2.50,000
930e81ED 4,00,000 BRTELITOT OB 17,000
mcﬁoéd G000 29,000 (GpTAl 5«:‘3 a303(1-4-16) 17,000
"Udoaaé ﬁa&'ﬁféo 15,000 OB TOOT NCRLD 12,000
%o:b@ msa 1,26,000 FVSpIepIX] 35,00,000
mo%é@ JNT 1,16,000
tﬁcsaaio “30R Towé 95,000
030BeTETER 4,15,000
&¢ mONE &Y 10,000
AOI) 30,000
WO TN ﬁag 25,000
[OWS 59,000
000 30,00,000
WOLeTT TOB 1,20,000
R T 8.000
IWAND 4,00,000

55,61,000 55,61,000
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BROTOEIENLD:

D)
2)
3)

4)
3)
6)

08T XT® Bw. 6,00,000.

0B, PR Tw. 60,000 FTRFCWPAD.

CHOZRY e 15% BetTd) TBING ¢S 15% 0B LeBReTFTNS
eSS 10% IRFP 3R0WO.

90e8NnY 0T 3e3B 10 ICR FOOT NEIOT), INQVA.

0 BIX HedT WG otodT), VI IR

TRO0PF FPRYR, FoBprordN 3RV HvE0.

03) Following is the Balance Sheet of Krupa Ltd. As on 31-3-2017.

Liabilities Amt. inI | Assets Amt.in<
3,000, 8% redeemable Plant and Machinery| 1,40,000
Pref. shares of 100 each 3,00,000 Land and Building | 5,20,000
40,000, equity shares Furniture 80,000
of 10 each 4,00,000 | Debtors 70,000
Securities premium 40,000 | B/R ‘ 94,000
General reserve 1,20,000 | Investment 1,20,000
Profit and Loss A/c 96,000 | Cash at Bank 36,000
Creditors 80,000
Bills payable 40,000 | Cash 16,000
10,76,000 10,76,000

The company decided to redeem the preference shares at a premium of 10%
on 1-4-2017. The company took the following steps.

a)

b)

c)
d)

A fresh issue of 6,000 equity shares of 10 each at a premium of 34
which was paid in full.

All the investments were sold for X1,10,000.
It arranged a bank over draft to the extent necessary.

The preference shares were duly redeemed.

Give Journal entries and prepare the Balance Sheet after redemption.
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sew ONEE ¥ET SER S DIADLe) a'dé,godw 31-3-201700%) & FI$NT08T:

LR 0N B0 T. SANO. RRZ T,
R oBWIY Twe. 1003 eveleTcRiTCH] m@ﬁd 1,40,000
3,000 3. 83 HTRER BAM I WA | 5,20,000
WRTE TFD BT 2eBRETITLORD 80,000
RN s 903N 70,000
TSNS 3,00,000 |2008emE Bodney 94,000
40,000 TS, FeONE BRAIND 1,20,000
gw. 108 @D 8BS 4,00,000 |22,0889 SR 36,000
282,083 B0 40,000 | =Sncd 16,000

| mmwE, Qveren 1,20,000

g BB IF 2003 96,000

AT 80,000

BRBLICTOT BORNLD 40,000
10,76,000 10,76,000

1-4-2017 SO FOJIOIN 354 TBR 5@5 aiedomﬂm& 3¢. 1080 000
230003 FPTVTOTERED SCTIEIID. adz@h FOTIOIN 88 FSNSI ac.sas‘dﬁ@md
ENTBROB TT03 IBOHOONI:

Q) Tn. 103 [oH B3S0H 6,000 o FOTPY, RePAYD, Se. 40
QLNONOTOZ ACTELOOWND). YT TREF N T SOIPNT.

R) QY BRIINGI, SW. 1,10,0003 &S00 SIBSDONIB..

R) TOWAOH WTIIFIR T, TINRSFT TOTI), IO BRODIWD
QFFORDOND.

B) TIPD BYS TWEONTD, TRSFCOIN FTVTIDS BRBWORD.

Seed HABEY DR D) HDTRTBIAT 298 GG VIR, AGTAX.

-
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049)

Balance Sheet of Moksha Limited as on 31 December 2017.
Liabilities Amt.in< Assets Amt.in X

Paid up capital Fixed Assets
1,000 6% pref. Land and Building 2,00,000
shares of X100 each 1,00,000 Plant and Machinery | 2,20,000
2,000 equity shares Current Assets
of X100 each fully Stock 1,00,000
paid. 2,00,000 Debtors 1,00,000
3,000 equity shares Cash at Bank 30,000
of 100 each, 50 paid | 1,50,000 Miscellaneous
Secured loans Expenditure
6% Debentures Profit and Loss A/c | 1,00,000
(Floating charge on all
assets) 1,00,000
Others
Mortgage on Land
and Buildings 1,00,000
Current Liabilities
Sundry creditors 90,000
Income Tax due . 10,000

7,50,000 7,50,000

The company went into liquidation on 1% January 2018. The preference
dividends were in arrears for 3 years. The arrears are payable on liquidation.
The assets were realised as follows.

Land and Building %2,40,000
Plant and Machinery X1,80,000
Stock X70,000
Debtors 360,000

The expenses of liquidation amounted to ¥8,000. Legal expenses I2,300.

The liquidator is entitled to a commission at 2% on all assets realised except
cash at Bank and 3% on amounts distributed to unsecured creditor (Excluding
preferential creditors)

All payments were made on 30" June 2018. Prepare Liquidator’s final statement
of Account.
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D008 31-12-2017500 RBecE OWHEFTT B BB BREMWOF T,

BRBMOOITND 3. SANKD oR.
DOTRE DS DPBH A0 SAND

Aleletnpls PR B 3B 2,00,000
1,000 3¢. 6 SBZo SeTnieh. mFS )

TS 3edn Tw. 100 To3 1,00,000 | cDOBRETTTED 2,20,000
2,000 mmsé 3e0nLD. 2300 SAND

©é 3ednt dw. 100 Tod 2,00,000 | moBNLL 1,00,000
3,000 maﬂwdé 3eToned TOOTOTTO 1,00,000
dw. 100 o3 3e0n, méoéﬁ@q [N 30,000
Sw. 50 o3 TOTSATR), 1,50,000 | 933 DN

T30 O CoP-BF oI 1,00,000

3e. 6 RL0WT® (PR
SANY 2nee3 oI 5&‘}) 1,00,000
Q283
BRD DB, 3WRET S
P33 WO 1,00,000
0 BRRMOT
FOTOTOOR 90,000
33000 301 0% 10,000
: 7,50,000 7,50,000

OT00T 1-1-2018 TOTD TOTJAOIN NRBEITMNOB.

TED T BeTITOR TR [RFNAY ©ogR03 % TRBLITNT.
BOTR DRRFIWROTN 5 THGPOBNIRY, GRWITIDIT. BANT), F$30TROI
BRTVE WIPBEERNT.

BRN THI) BT 3. 2,40,000
BT Wy ohodeewzdee de. 180,000
ASEIDIN gw. 70,000
903N oR. 60,000

QRTIETD ﬁzg =PWONY BR. 8,000. 5L ﬁz;d 2,300 Tw.

DRBWETRTOO SR SANY FP0WOOT OB Beew e Je. 2803
(2ROITYHLE JND BRTDIRR) W) BT T&B FINYR BT PINTIY
DY), TORIB[RRB BT ¢S Je. 3 To3 BYYY THODL BRFVTONTYS.

TOBENYRY, QI0OT 303¢ HRT 2018 TOWD S[HRTWSINT.
DRBETHTO0D @08 S3T 330D, JO3POR. :

&
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PART-B

WRNA-W
Answer any two questions. Each question carries 10 marks. [2x10=20]
C3PPYTTTER HTE IZNER WZ0R. T TJR 10 LoD,

05) Chitti Co. Ltd. issued bonus to make their partly paid up shares into fully paid
shares out of General Reserve. The securities premium and CRR will be
utilised to declare two fully paid bonus shares for 5 shares held.

Balance on 1-4-2016 are given below:

Share capital
6,000 Eq. shares of X100 each

Z80 paid up % 4,80,000

. General reserve %1,80,000
Securities premium 380,000
Capital redemption reserve X1,60,000

Pass the necessary Journal entries to record the above transactions in the
books of the company.

23t 0. DONWBF) AOTPT, VPR ZONZs TRECINT  ReAdNTII),
TR TRRSIPT ReDNTTON TOBSFAL B3RETT DEBTRWD. RBR0
QLENVONO TONH WOTBTOY DWNY ENEROR, B 5 WAV DTBd Ltz
ReDNID, VEBLD WFRZRYTOO.

1-4-2016 TOQT &303 %c;z%ﬁ@o Q0E:I:
R WOBY

3w 100 Sw. NS,

80 Tw. TRSAT 6,000 FWeTdRd Sw. 4,80,000
AT, VO cw. 1,80,000
B33088 QLo dwe. 80,000
20TY DTN Y dw. 1,60,000

FeVOT FRFOTMN BOTACH TFIRY O, droezd ToDSRIRY 23000,

-8-
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Q6) The following is the Balance Sheet of Pooja Ltd. as at 31* MarchM2()161. 57

Liabilities Amt.in% Assets Amt.in ¥
30,000, 8% Plant and machinery | 12,50,000
Redee mable Furniture 4,50,000
pref. shares Stock 7,50,000
of X20 each fully paid 6,00,000 Debtors 7,00,000
2,00,000 equity shares Bank 3,50,000

of 10 each fully paid | 20,00,000

Profit and Loss A/c 3,50,000

Creditors 5,50,000
35,00,000 35,00,000

On the above date the preference shares are redeemed at a premium of 10%.
In order to facilitate the redemption of preference shares the company decides
to issue 40,000 Equity shares of ¥10 each.

Pass Journal entries to record the above transactions.

31-3-201600%> B DNEE ORT “Omos 38" 83 3$NS08T.

BWLTYOND Sn. SAND = O
30,000, 3e. 8 WDTRBER esviet:] ma_ap m@ddﬁ% 12,50,000
Tn. 200 s TRSRROB QeBPETFOED 4,50,000
8:5533 JeH 6,00,000 C.Tom_oab 7,50,000
2,00,000 Sw. 10T Zwecer 903D 7,00,000
TRRENPOT AWV, 20T 3,50,000
SeToned 20,00,000
oo IF 008 3,50,000
SBedned 5,50,000

35,00,000 35,00,000

DT ATTOW BTZO SN 3e. 10 ©PT VSR DD TBERLOTH).
83 W0 BWIRVTYN, FOTACID 40,000 DTPY, BedNI), B8 3eon
10 Sn. NY0Z DENBRAVIED ¢TI,

eI BITOTNERY, ez BFFRY ToDIR0.

-9
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07) Journalise the following transactions:

a) 2,000, 10% Debentures of Rs. 100 each issued at par and redeemable at
par.

b) 1,000, 9% Debentures of Rs.100 each issued at 5% premium and
redeemable at par.

¢) 4,000, 8% Debentures of Rs.100 each issued at 10% Discount and
redeemable at par.

d) 5,000, 7% Debentures of Rs.100 each issued at 5% premium and
redeemable at premium of 10%.

e) 3,000, 12% Debentures of Rs. 100 each issued at 8% discount and
redeemable at 10% premium.

3LUBOR WeowOLINENR BReED ma)dﬂeéﬁod BRR.

Q) Tw. 1008 2,000 3e. 10T m@&:‘?ﬁ%’&o&t NDBSH 302 IDBSA
QTRBINRPRORYT.

) dw. 1008 1,000 3e. 98 BOTIRLI, Je. 58 BWWONY WBOA
RNDBSR DBREBIRRPROFT.

%) dw. 1003 4,000 3e. 83 TOTJINY, Je. 108 BReROHY NBOA
BNDBSR DB REBINRLROYTN.

®) dw. 1003 5,000 3e. 70 TWOTSAE, 3e. 5 ©o3 ézs’%aﬁ@cﬁacg NBDA
3e. 108 BepBOODHY QDRVREBVF RRPBITYT.

@) Tw. 1008 3,000 3e. 120 m&a‘d@ﬁ@ﬁb& Je. 8T fx@f@OﬁDQ N30
Be. 100 BHFOOHY DRRCBIRACOMETH.

08) Explain the various methods of redemption of debentures.

O TING BDVTBECD AFOINT, DWOA.

-10-
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PART-C

-2
Answer any four questions. Each question carries 5 marks. [4%5=20]
C3RPTRTORL I, TJNOR VIO, Td TIR 5 wosnsh.

Q9)What are the guidelines for the issue.of‘ bonus shares?
BReSH 3TN NITHOD [INFRRWNLD 0307)w)?

Q10)Who are the preferential creditors under the companies Act?
303 F0dHOH TS BB FINT 03PE?

Q11)Write a note on ‘Buy Back’ of shares.
“B08 Bedone DOQ” Wi 20T 3T/ 20B000d.

Q12)What are the differences between shares and debentures?
3eVNH B O JIRPNTOH BIVINTORD)?

Q13)State the provisions regarding the redemption of preference shares.
BOTACD FOHOD HFoT BBTD SeHNTT, FTTPRS WANG AODTIB/ENTR),
A,

Q14)Write a note on underwriters.
WEE BRYB MENRWICT Wil L3S 0TOND.

“11=
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IIT Semester B.Com. Examination, October/November 2018
(Scheme : RS 16-17) (Freshers of Nov./Dec. 2017 and onwards)
COSTAND MANAGEMENT ACCOUNTING -1I

Time : 3 Hours Max. Marks : 80
Instruction:  Answer all parts.

DR RNNCNL LVS02.

PART - A

N - 9
Answer any Two questions. Each question carries 20 marks. [2 x 20 = 40]
O3PPTITTR HTE TFROR ¢0goR. BE BB 20 LOIND.

Q1) What is process costing? State its features. Distinguish between process costing
& job costing. : _
303 ﬁz;d a'dc;?;% ROV W3 MOeD ogsaﬁeém& 893, O3 dagd w%ém
DB FOR B[ ﬁc?pérm QWD BIVANTOID)?

02) Smt. Suma undertook a contract for ¥ 48,00,000 on 1-1-2015 of which 80%
of work certified was received in cash every year & the balance was received
at the end of the contract. From the following information, you are required to
prepare contract A/c and Contractee’s Account.

Particulars 2015 2016 2017
3 4 z

Materials used 6,40,000 11,20,000 80,000
Wages 1,60,000 8,00,000 2,00,000
Direct Expenses 1,60,000 80,000 19,200
Plant introduced 10,00,000 2,80,000 -
Materials (@ site 64,000 1,68,000 -
Work certified 11,20,000 20,80,000 48,00,000
Work uncertified 10,000 1,90,000 -
Materials return at store 28,000 - 16,000

Plant is to be depreciated @ 10% p.a. on original cost.

PTO.
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QF03 01-01-2015 Jozd Hesd8 RHITIS Twe. 48,00,000 718 HIR
BORBR, 2.yDT3. Tone FREFT IZ Je. 80 ST Beowy, IR
CRTBY BRODO A 08 Bros, IOF BONTRR TFOHED 23T
Redried 33 FPFOBOST.

2015 2016 2017
% & 3

35, AOWIRN, 6,40,000 11,20,000 80,000
39 1,60,000 8,00,000 2,00,000
3eq DFE 1,60,000 80,000 19,200
0R0g, gvzmodeenady  10,00,000 2,80,000 -
QUPT AOEIIAN, 64,000 1,638,000 -
BBe8Te0 T 11,20,000 20,80,000 48,00,000
B ReBORTe QS T 10,000 1,90,000 -
WOMREE, &ODTNAT

325 AOTPN, 28,000 . 16,000

ODOZE et T@ BT/E Be. 10 To3 IRFYODRY, WeL B3SeHY &g, BRI,
MHEATRTE s Tord BRIFT w030, 3 IHFE F03ROA.

Q3) Sagar Transport company is running 4 buses between two towns. Which are
<150 kms apart. Seating capacity of each bus 60 passengers. The following
particulars were obtained from their books for the month of March 2018.

<
Wages of Drivers, Conductors & Cleaners 80,000
Salaries of supervisor and office staff 20,000
Diesel oil and other oils 4,00,000
Repairs and Maintenance 80,000
Taxation, Insurance etc. 1,60,000
Depreciation 2,60,000
Int and Other charges - 2,00,000

The actual passengers carried were 80% of the capacity. The buses ran
on all the days. Each bus made one round trip per day. Find out the cost per
passenger’s kilometre.




TONT® O FoTAOIN 4 zanor{@é Nedoda?n 2 INONS WD 20T FWOD
9030 150 3.80¢ aSoéci% wéo&raoda &)ng 60 wojmsésd?a: TN waﬁoa‘)?da’b
moﬁbd)gd. Fo0e3’s 20188 Son®I 'do?o_:é@ocj 3 TPNI é)addﬁ@éa‘n& wdobejaﬁcﬂ.

Z
2O ITFBID NV FTT, FeSS 80,000
363D doee?dzsads B AWOD Fows 20,000
BReF & |33 @9_'@); 4,00,000
z:bd?gp & m%@oda o) 80,000
30N DI fasae@ 1,60,000
NRT 2,60,000
W8 & 93V B 2,00,000

TBRITON Be. 80 BOPOLIZD B, TOSPEOTI), BREEWT. 4 WRNWD
309 2R OBNYY TIODF AT LRI BEOIROD WA DTF, 2O
R wodwsa m«:éaérj

=8 8 e R 2 2.2, womséﬁdﬁa sticiracrmn 3neo das‘aién FOWEBOWD.

04) A product passes through three processes P, Q, R. The normal wastage of
each process is P - 3%, Q - 5% and R - 10%. The wastage of P sold at X 10
per unit that of Q at ¥ 30 per unit and that of R ¥ 40 per unit. The expenses
were as follows :

20,000 units were introduced to process ‘P’ at ¥ 12 per unit

Process
P Q R
Z Z T
Direct material 1,00,000 1,50,000 50,000
Direct Expenses 1,00,000 1,20,000 2,00,000
Direct Wages 5,00,000 9,00,000 7,00,000
Output (In units) 19,000 18,200 16,200

Prepare process A/c, Abnormal loss A/c and Abnormal gain A/c.

D BN X, TR, WD ET° 20V TRT TOBRY), WOt TOIT
emgacﬁﬁod;mma’d 3 5035@0&)@ OB, I . 3¢ 3, &ra 3e.5 DB
5T Be.10 S0T> SOTER B0, s wcyocjrmiab & BOITY 3 odaraaégﬁ
Swe. 10 To3. 3R, BOBTY TS ORI . 30 oforc mg s0° BOBTY
WE oY Sw. 40 doéﬁ TR0 RRTOINT. ANG DWFND 33

3ENT0SI. ;
20,000 OPRIRNTI), TG 0PRWR Cw. 12 To3 ‘@’ ToITY
VTOIRENTSTDON.

(7S
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ARMOTAL"S
3]
¥
SeT DY [N, 1,00,000
3T DWF 1,00,000
3eT Bed 5,00,000

2,43 GUBITN (CHRAWNRTD) 19,000

1,50,000
1,20,000
9,00,000

18,200

M-156

80°

Z
50,000
2,00,000
7,00,000

16,200

O3 méﬁ@ﬁa&, eﬂxa’msﬁ SF DB, @:‘a’msé (SRYA] méﬁeédool 3035004

PART - B
Won — W

Answer any two questions. Each question carries 10 marks.
OIRYTRTTR 2TRES [ 0gdr. TE TR 10 ©osrieh.

Q5) Briefly explain the various methods of costing.

VNG TTTT [ deor oD THBNT, FOFTON D[OR.

[2 % 10 = 20]

06) From the following information prepare a Reconciliation statement.

Net profit as per Costing Books
Net profit as per Financial Books
Factory over head under recovered in cost A/c

Administration overhead over recovered on cost A/c

Depreciation charged in cost A/c

Depreciation charged in Financial A/c

Interest received but not included in cost
Income tax provided in Financial Books

Bank Int credited in Financial Books

Stores adjustment credited in Financial Books
Dep. of stock charged in Financial Books
Dividends appropriated in Financial A/c’s
Losses due to theft provided in Financial A/c’s

=

%

66,760
63,780

5,700
4,250
3,950
3,660
450
600
230
420
860
1,200
260
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31 BRLIT [op&ENOT BRA BROTOT DTTR TLONT), F03WOA.

<
3%, DRFBYTT CozR03 ' 66,760
BTR DRTIYNS TR0 63,780
TLF oD %, BPTITRY TRD AR 5,700
SR By SPTRIEY AN SIROIRF 4,250
RBO e DRITY : 3,950
A=g0 Beovord TIIEY 3,660
W WORDRTR, B WATBY BN AT 450
BeotoRd THRIOOT IOR RELITHF 600
0T WRODI, BT WRIRY wTW BRRFCHHW 230
BEOTOR TATTY YVMRFT TROTESE 25335 420
ARRR e BRIPOD), BEVTOR THFBRY Be0AHPIR 860
ABHOTR, BTN WHIRY SeeOAIFHE 1,200

3¢33000 TOIB FFHD, TP DR WORHYD 260

07) A product passes through 2 processes A & B, from the following information
prepare process Accounts.

Process
ARR) B(%)
Materials 50,000 20,000
Wages 60,000 40,000
Manufacturing Exp’s 20,000 - 20,000
Factory lighting 10,000 10,000
Sundry Exp’s 10,000 -
Actual output 4,700 units 4,150 units
Normal loss ' 5% 10%
Scrap value p/u 60 80

5000 units were introduced into process A. Costing ¥ 2,50,000.

-5-
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200D TP TREOFNRAYLD 2 BOINRH BeoNTR, 83 39300 BP&ENPOT
D & W TOINY 00INIR, F03R0A.

AR®)
o5y, WRY 50,000
39 60,000
UDB‘SJﬁﬁ ﬁa;d 20,000
TOTOF N e%@s‘ﬁ 10,000
Q3T ﬁz;c’sﬁ%b 10,000
3@ PTG 4700 (0DREFND)
AEDWIMES 5%

TOBPI, IF B[00k BS T /0w, 60
5000 oweRerniem, 03 ASY de. 2,50,000 nY, B SPENT.

DOSNY

BR)

20,000

40,000

20,000

10,000

4150 (0T TLD)
10%

80

Q8) Ravi Construction Co. undertook a contract for Rs. 5,00,000. The information

provided is

Materials issued

Wages

O/S wages

Materials at site on 31-12-2017
Architect fees

Plant issued

Other Expenses

Material return to stores

3

1,20,000

80,000
10,000
20,000

2,000
50,000
20,000
10,000

The contract was completed on 31-12-2017 and the contract price was duly
received. Plant is to be depreciated by 10% p.a. prepare Contract A/c &

Contractees A/c.
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0O DR OB T 5,00,000 HORt rHIROHY, THOD, SIS DIV

& FPNT0S.
4
TRIN, TS 1,20,000 -
3RO 30,000
$30% BRBLTT 3RO 10,000

RPN, QB 31-12-20178, 20,000
390D 309 (I 303WOAT) 2,000

003, DIOXT, 50,000
93BT DPFNED 20,000
ROIN, VTR, YR, 10,000

™8R 3R RFoWT 31 20178 Weror RRORBIIT. THEN BEoTI, TEODSONT.
0003w e Be. 10% XIFY SR0WD. THER & TSR VRTHI 030D,

303300A.
PART - C
N - 2
Answer any four questions. Each question carries 5 marks. [4 x5 =20]

O3PRTRTTR LY, BINER LZdA. BEC3ROTER, 5 VOINW.

09) Write a note on Retention Money.
‘BBHBODOIT Teo W1} 3TE 2980200.

Q10)What is Normal Loss & Abnormal Loss?
MBI, IF DB WROTWI, IF H0TIeD?

QII)Write a note on Joint product & By product.
BOL TIIPBPE & YT TTFFET Wi} e5TE3 LITOWO.
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Q12)State the reasons for difference between profit as per cost statement and
profit as per financial statement.

S23 Reorcd T & TOTR TYCH THFER, FIT]F LT WA, 98
g = < 3 9 2

Q13)How do you treat profit on incomplete contract?
TREFWINTT MHSRONY CRPHR, Berk FoRHRBAINDOY

Q14)Calculate total passengers kms. from the following particulars :

No. of buses 4

No. of Days operated in a Month 30 days

No. of trips per day 4 trips

‘Distance 40 kms(One Side)
Capacity 50 passengers

Normal capacity carried 80%

83 39808 [PHENYOT FTo3I0edTT 28 §.e0. NI, FORLROWD.
WENY Ko, 4

SONYSY ToONFATF AT OIND 30

TSOT LRT WRNRW 4

TINFT BRT 40 3,Q0¢ (2.0TD IARR)
TS WA BOIedsT N 50

MRPF, ToISTSR, BROBBOIT, TRPe 80%




